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                                                                   MATH108DE
                                                               Practice 5 Problems
                                                                     5 problems
                                                                    SOLUTIONS



Practice 5 Problems
sec 7.2 ......p541, prob 22, 24, 32
sec 7.3.......p550, prob 28, 42
 


 ______________________________________________________________________

1]
Sec 7.2   p541, prob 22
Use appropriate identities to find the exact value of the following expression. Do not use a calculator.
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SOLUTION
Using the identity for the sine of  the difference of two angles
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and substituting the appropriate angles given in this problem, 
we get
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           Recall that we know the exact values of all the trigonometric functions of  
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2]
Sec 7.2   p541, prob 24
Use appropriate identities to find the exact value of the following expression. Do not use a calculator.
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SOLUTION
Using the identity for the tangent of  the sum of two angles
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and substituting the appropriate angles given in this problem, 
we get
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3]
Sec 7.2   p541, prob 32
Find  
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 exactly without using a calculator, using the information given.
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 is a quadrant II angle 
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 is a quadrant III angle


SOLUTION
Use  reference triangles to get the values of the trigonometric functions we need
 in order to use the identities for 
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For angle 
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So
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For angle 
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  in quadrant III
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So
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Now use the appropriate identities.
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Simplify this complex fraction by multiplying the numerator and the denominator
of this complex fraction by 2.
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4]
Sec 7.3  p550, prob 28
Verify the identity.
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SOLUTION
Let's start from the left side and try to get to the right side of the identity.
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                      Use the double-angle identity for  
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We want to rewrite the right side of the above equation so that it involves only the secant function.

So let's do something that gets us secant functions:
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                Finished!



5]
Sec 7.3  p550, prob 42
Compute the exact values of    
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using the information given 
and using appropriate identities. Do not use a calculator.
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SOLUTION
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     is an angle in quadrant III  (negative angles are generated by the    
                                                                                                clockwise rotation of the terminal side of the angle)
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Dividing the inequality by  
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In the half-angle identity
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the sign of the square root is determined by the quadrant in which the terminal side of the angle  
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Since 
[image: image47.wmf]2

x

 is in quadrant IV where  the sine function is negative 
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we write

                   
[image: image51.wmf]4

1

1cos

5

sin

222

xx

-

-

-

=±=-



                                                       
[image: image52.wmf]543

10

10

+

=-=-



Rationalize the denominator
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    is in quadrant IV   where  the cosine function is positive 
[image: image56.wmf](

)

+


                     so

  
[image: image57.wmf]4

1

1cos541

5

cos

22210

10

xx

-

+

+-

=±===




Rationalize the denominator
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Use the identity
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so
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